
Mid-Size Ranger Front 2” Plow Mount 

P/N: EMP-11224 
Fits: 2010-2012 Ranger 400,2011-2012 Ranger 500, & EV 

 

Warning: Designed to be used with the EMP plow system only.  

Serious injury of death could result if used for other purposes. 
 

Includes:  

1. (1) Receiver Mount 

2. (2) Nut Plates (11224-02) 

3. (1) 2-3/4” Bent Hitch Pin 

4. (1) Hitch Pin Clip 

5. (6) 3/8-16 x 1” Flange Bolts 

6. (1) Logo Sticker 

 

Installation: 

1. Bolt under the front of your Mid-Size Ranger using the flange bolts and nut plates.  

The front nut plate will require (3) bolts and the rear will require (1).  The nut plates go 

on the top side of your frame.   

2. Use the remaining bolt in the front of the receiver to stop rattling when the plow is 

mounted. 

Mid-Size Ranger Front 2” Plow Mount 

P/N: EMP-11224 
Fits: 2010-2012 Ranger 400,2011-2012 Ranger 500, & EV 

 

Warning: Designed to be used with the EMP plow system only.  

Serious injury of death could result if used for other purposes. 
 

Includes:  

1. (1) Receiver Mount 

2. (2) Nut Plates (11224-02) 

3. (1) 2-3/4” Bent Hitch Pin 

4. (1) Hitch Pin Clip 

5. (6) 3/8-16 x 1” Flange Bolts 

6. (1) Logo Sticker 

 

Installation: 

1. Bolt under the front of your Mid-Size Ranger using the flange bolts and nut plates.  

The front nut plate will require (3) bolts and the rear will require (1).  The nut plates go 

on the top side of your frame.   

2. Use the remaining bolt in the front of the receiver to stop rattling when the plow is 

mounted. 

Mid-Size Ranger Front 2” Plow Mount 

P/N: EMP-11224 
Fits: 2010-2012 Ranger 400,2011-2012 Ranger 500, & EV 

 

Warning: Designed to be used with the EMP plow system only.  

Serious injury of death could result if used for other purposes. 
 

Includes:  

1. (1) Receiver Mount 

2. (2) Nut Plates (11224-02) 

3. (1) 2-3/4” Bent Hitch Pin 

4. (1) Hitch Pin Clip 

5. (6) 3/8-16 x 1” Flange Bolts 

6. (1) Logo Sticker 

 

Installation: 

1. Bolt under the front of your Mid-Size Ranger using the flange bolts and nut plates.  

The front nut plate will require (3) bolts and the rear will require (1).  The nut plates go 

on the top side of your frame.   

2. Use the remaining bolt in the front of the receiver to stop rattling when the plow is 

mounted. 

Mid-Size Ranger Front 2” Plow Mount 

P/N: EMP-11224 
Fits: 2010-2012 Ranger 400,2011-2012 Ranger 500, & EV 

 

Warning: Designed to be used with the EMP plow system only.  

Serious injury of death could result if used for other purposes. 
 

Includes:  

1. (1) Receiver Mount 

2. (2) Nut Plates (11224-02) 

3. (1) 2-3/4” Bent Hitch Pin 

4. (1) Hitch Pin Clip 

5. (6) 3/8-16 x 1” Flange Bolts 

6. (1) Logo Sticker 

 

Installation: 

1. Bolt under the front of your Mid-Size Ranger using the flange bolts and nut plates.  

The front nut plate will require (3) bolts and the rear will require (1).  The nut plates go 

on the top side of your frame.   

2. Use the remaining bolt in the front of the receiver to stop rattling when the plow is 

mounted. 


